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3anaua B. ABapuiina rpyna

Enexrpopasnpenenurennoro apyxectso ,,BEZ“ pemasa ma moamenu

aBapuUHHUTE aBTOMOOWIHN C enekTpoMoommn. OOeKTHTEe, 3a KOUTO OTroBaps L xh‘ .
aBapuitHata Tpymna, B kosto pabotu IleThp, ca pas3moyiokeHH B HIKOJIKO T~
cbeenHu cenuma. Ha kaprata Ha paiioHa ca O3HA4eHH CeNMIIATa, MIbTUIIATA, Iﬁ 3
KOUTO TH CBBP3BaT W JABDKMHUTE HA MbTHIATA. MeXIy BCSIKa JIBOWKA . ,»El

HAaceleHH MeCTa CBINECTBYBAa HAN-MHOTO €IWH MABYNOCOYeH WhT. Hsma 2\\_,..-/
M'BTUIA, BOJCIIN OT HACEIEHO MSCTO AUPEKTHO KbM caMoTo Hero. Cien Kato
ce MOJIyYH CUTHaN 3a aBapus, [leTbp TpsOBa Ja ChCTaBU CIIUCHK C Pa3UUIHUTE
MapIIpyTH 70 CENUIIETO Ha aBapusTa, JbDKHHATA HA KOUTO HE HAJBHIIABA PA3CTOSHHETO, KOCTO EIEKTPOMOOHIBT
MOXe Ja u3MHHE 0e3 mpesapeknaHe. MapmpyTsT TpsOBa a € caMo 3a OTHBAaHE JI0 MSACTOTO Ha aBapHATa M Ja €
TaKbB, Ue J]a MUHABaT Tpe3 JaJeHO HACEJIEHO MSCTO HE MOBeYe OT BeIHBXK. Hamumere mporpama, KOSTO W3TOTBS
KEJaHUs CIIUCHK OT MapUIPyTH, IHDKUHUTE Ha KOMTO HE NMPEBHIIABAT MAKCUMAITHHS MPOOEr Ha eJIeKTPOMOOHIIA.

Bxon: Ilpu enHo m3mbiHeHNe, IporpaMara TpsioBa 1a 00paboTBa HAKOJIKO TECTOBH ITpUMepa. 3a BCEKU TECTOB
mpuUMep, OT IBPBUS PeJl Ha CTAaHIAPTHHSI BXOJ CE BHBEXKAAT JIBE LIEIH YMCIIA, Pa3[elieHH ¢ HHTepBal — Opost V Ha
HaCeJICHUTEe MecTa B palioHa Ha aBapuiiHaTa rpymna, Homepupanu oT 1 1o V u Opoar R Ha mbTHIIATa MEXKIy TBOMKH
Hacenenu Mecta (2 <V <64, 2 <R < 64). Or cienBamure R pena ce BpBekaat mo tpu meiu uncia Cy, C, u D. Cy u
C, ca HOMepaTa Ha JIBE HACEJIECHW MeCTa, CBbp3aHH ¢ IbT, a D — pascrosauero Mexay Tax (1 < D < 9999). Ot
MOCeTHUS Pell HAa TecTa ce BBBEXAAT TPH IIENM YHCIa: HOMEPBT S Ha HACENEHOTO MSCTO, OT KOETO TPhI'Ba
aBapHiiHaTa rpyna, HOMEpbT 1 Ha HACEIEHOTO MSCTO, B KOETO € Bh3HWKHAJA aBapusTa M Ib/DKMHaTa M Ha mbTH,
KOMTO eeKTPOMOOMIIBT MOXKE J1a U3MHHE 0e3 Ipe3apex/ane.

H3xon: 3a BCekW TecT, HA OTACTHH pPEIOBE HAa CTAaHAAPTHUS H3XOJ, Iporpamara TpsOBa Ja H3BeIe
HAMEpEHUTEe MapLIpyTH, IOAPENECHM B HapacTBall pel Ha OBDKUHATE WM, a IpU pPaBHH [OBIDKUHU — B
JIeKCUKOTrpadcKi HapacTBall pell. PebT 3anmo4Ba ¢ AbDKHHATA HA MapIIpyTa, cliefBaHa oT * :* ¥ uaTepBai. CreiBar
HOMEpaTa Ha HacelIeHHUTE MecTa, KOMTO (opMHpaT MapuipyTa, pa3lielieHd C MHTepBaid. AKO HsMa HaMepeHU
MapUIpyTH, KOUTO YAOBJIETBOPSIBAT YCIIOBHATA, TpOrpaMara TpsioBa Jia u3BJie pea ¢ 1yMmaTa No.

IIpumep:

Bxon N3xon

4 5 3: 1 3

122 4: 1 2 3
133 1: 1 4

141 7: 1 3 4
2 3 2 8: 1 2 3 4
3 4 4

1 3 4

4 5

122

133

141

2 3 2

34 4

1 4 10
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Task B. Emergency group

Electricity supplying company ,.BEZ“ decided to replace the
emergency group cars with electro mobiles. The objects for which is
responsible the group of Peter are the villages of one region. The map of 1,
the region shows the villages, roads that connect them, and the lengths of 3
the roads. There is no more than one road between a pair of villages and no ﬂ
road that starts and ends in the same village. After emergency call is Y _—
received, Peter has to create a list of the different paths from the base of the 2 “““-f-"" 2
emergency group to the village that send the emergency call, which are no
longer than the distance the electro mobile could pass without recharging.
The path has to be only from the base to the village with a problem and have not to pass through a village more than
once. Write a program to prepare the asked list of paths.

Input: The program has to be able to solve more than one test case per run. For each test case the first line of
the standard input will contain two integers separated by interval: the number V of the villages of the region, labeled
from 1 to V and the number R of the roads between some couples of villages (2 <V < 64, 2 <R < 64). Each of the
next R rows will contain three integers C;, C, and D. C; and C, are the labels of two villages connected by a road and
D — the length of the road (1 <D <9999). The last line of the test case will contain tree integers too: the label S of
the village where the base of the group is placed, the label T of the village that send an emergency call and the
maximal distance M that the electro mobile could pass without recharging.

Output: For each test case the program has to print on separate lines the found paths, sorted in increasing
order of their lengths, and when some paths have the same length — in increasing lexicographical order. The line has
to start with the length of the path, the sign “:” and one interval. Then the labels of the villages follow in order of
visiting, separated by single intervals. If there is no appropriate paths for the test case then the program has to print a
line with the word No.

Example
Input Output
4 5 3: 1 3
1 2 2 4: 1 2 3
1 33 1: 1 4
1 41 7: 1 3 4
2 3 2 8: 1 2 3 4
34 4
1 3 4
4 5
1 2 2
1 33
1 41
2 32
344
1 4 10
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